FCO 9XXX- 0009, Airflow tenp sensors register false trips

D G TAL FCO CATEGORY PAGE 1
[D O 5
FI ELD CHANCE ORDER NUMBER:  9XXX- Q009

APPLI CABILITY: This "O'" coded FCOw Il replace the Air Flow Sensor and Mbtor
Speed Control Sensor on the VAX 9000-2XX systens and the Air Fl ow Sensor on

t he VAX 9000-4xx systens. This FCO incorporates the foll ow ng ECGCs:

7026890- TW02, 7027528- TWO02 and KA920- TWO06.

PROBLEM & SYMPTOM Air flow tenperature sensors registers false trips when
VBox option is installed.

SOLUTI ON: 9000- 2XX, replace 12-28780-05 with 12-28780-06, replace 12-28779-05
wth 12-28779-02. In the 9000-4XX, replace 12-28780-09 with 12-28780-11.

QUI CK CHECK: 9000-2XX | ook for 12-28780-06 and in the 9000-4XX | ook for
12-28780- 11.

PRE/ COREQUI SI TE FCO |
N A | 1.
| |

MITI HRS |
5 hrs |

TOOL/ TEST EQUI PMENT: Field Service M ntenance Kit
|

FCO PARTS | NFORVATI ON

I
I
I
I
I
APPLI CABILITY |
I
I
I
I
I

FCO KIT NO | DESCRI PTI ON OF CONTENTS | EQ KIT VARI ATI ON
| |

EQ 01635-01 | 1 12-28780-06 Air Flow Sensor |
| 1 12-28779-02 Mdtor Speed Control Sensor | N A

EQ 01635-02 | 1 12-28780-11 Air Fl ow Sensor |

FA-04970-01 | 1 FCO Docunent |
| |

FCO CHARG NG | NFORVATI ON |

WARRANTY/ CONTRACT NONWARRANTY/ NONCONTRACT

i
ON-SITE | OFF-SITE || ONSITE | OFF-SITE | MATERI AL ONLY
| | | | |
TRAVEL/| EQ | | EQ ||TRAVEL/| EQ | | EQ | ORDER- ADM N, HANDLI NG |
I NSTALL| KIT |INSTALL| KIT ||INSTALL| KIT |INSTALL| KIT | PKG SHI PPI NG & EQ KI T|
| | | | | | | | | I
DEC | DEC| DEC | DEC|| NA | NA| NA | NA| NA |
| | | | I | | | |
APPROVALS |

|

SPE | DSHQ LOd STI CS | DS PRODUCT SAFETY |

Al'i ce Jacobson | Dick Joseph | Robert Brister |

I I |
SPE MANAGER | This docunment is published | FCO RELEASE DATE |



D no Genova

|on nultiple nedia including | 29 January 1992 |
| Cust oner Services and MDS |

M CROVEDI A | Mcrofiche Libraries. It is| FCO REVI SI ON
Di ane MacDonal d | al so avail able electronic- | A |
|all via the SSD CD- ROM and |
POPULATI ON | TI VA | PARTS AVAI LABI LI TY |
| | January, 1992 |
I I
_______ FCO 9XXX- (0009
U T T T B
|dli]gli|t]all] PAGE 2 OF 5
] I

Renoval and Installation procedures for 9000-210 systens

6.
i nstall

7.

9.

10.

11. Report t

Shut down system and | ock the systemfromthe AC power
sour ce.

Fromthe front of the cabinet, using a Phillips
screwdriver, renove the two screws securing the plenumto
t he chassis.

Renove the pl enum

Di sconnect the appropriate Mate-N Lok connectors. The notor
speed controller has two connectors.

Using the Phillips screwdriver, |oosen the two 6-32 pan
head screws (PN 90-06022-01) securing the sensor to the
nount i ng assenbly on each side.

Rotate and renove the 12-28779-05 and install EQ 01635-01
P/IN 12-28779-02. On the other side renpove the 12-28780-05 and
EQ 01635-01, P/ N 12-28780- 06.

Using the Phillips screwdriver, tighten the two 6-32 pan
head screws securing the sensor to the nounting assenbly on
each side.

Connect the appropriate Mate-N- Lok connectors. The notor
speed controller has two connectors.

Install the plenum

Using the Phillips screwdriver, install the two screws
securing the plenumto the chassis.

his FCO activity on the LARS formin the "Fail Areal

Modul e/ FCO Conment s" colum as fol |l ows: FCO 9XXX- Q009
(See exanpl e on Page 4).



Renoval and Installation procedure for the 9000-4XX

1. Shut down system and | ock the systemfromthe AC power
sour ce.

2. At the base of the plenum disconnect the two Mate-N Lok
connectors to the notor speed control sensor.

3. At the base of the plenum disconnect the Mate-N Lok
connector to the air flow sensor.

_______ | FCO 9XXX- 0009
R R |
|dli]gli|t]all] | PAGE 3 OF 5
T I o |

|

|

4. |If applicable, lift the power supply plenumup out of the
way by pulling the release pin on each side of the power
supply plenum The power supply plenumw |l lock in place in
the rai sed position.

5. Using a 3/8 inch box wench, renove the two nuts that
secure the base of the CPU plenumto the | ower blower housing.

6. Using a 5/16 inch box wench renove the two screws that
secure the CPU plenumto the plenum nounting bar.

7. Renove the CPU pl enum assenbl y.

8. Using a Phillips screwdriver, renove the three screws on
each end of the plenumto renove the diffuser assenbly from
the bottom of the plenum

9. Renove the air flow connector fromthe end of the diffuser
assenbl y.

10. The air flow sensor is nounted on a bracket inside the
di ffuser assenbly. Using a Phillips screw driver, |oosen (do
not renove) the two Phillips screws at the base of the air
fl ow sensor.

11. Rotate the sensor base counterclockw se and renove the
sensor (12-28780-09) fromthe sensor nounting panel.

12. Insert the sensor EQ 01635-02, P/ N 12-28780-11 into the

di ffuser assenbly so the Phillips screws already attached to

t he nounti ng bracket, pass through the opening in the sensor

13.

base.

Rot ate the sensor base cl ockw se.



14. Using a Phillips screwdriver, tighten the two Phillips
screws at the base of the air flow sensor.

15. Attach the air flow sensor connector to the opening in
the end of the diffuser assenbly.

16. Insert the diffuser assenbly inside the base of the plenum
and attach with three Phillips screws on each end.

17. |If applicable, lift the power supply plenumup out of the
way by pulling the release pin on each side of the power
supply plenum The power supply plenumwll lock in place in
the rai sed position.

18. Place the CPU pl enum assenbly in its nmounting | ocations so
the two bolts extending fromthe top of the bl ower housing
pass through flanges on each side of the plenum base.

FCO 9XXX- 0009

I

|11 I
Idlilgliltlall] | PAGE 4 OF 5

|l _| I

I

I

19. Using a 5/16 inch box wench, install the two screws that
secure the CPU plenumto the plenum nounting bar.

20. Using a 3/8 inch box wench, install the two screws that
secure the base of the plenumto the top of the bl ower
housi ng.

21. At the base of the plenum connect the Mate-N Lok connector
to the air flow sensor

22. At the base of the plenum connect the two Mate- N Lok
connectors to the notor speed control sensor.

23. Report this FCO activity on the LARS formin the "Fail Area/
Modul e/ FCO Comment s" colum as follows: FCO 9XXX- G009

LARS
CATEGORY O USA G A EUROPE
Activity -
(a) Contract and Warranty w U Y
(b) I N-DEC Contract K U

Har dwar e Segnent Code 111 111

Non Contract/Non Warranty F F F
(c)RTD O f-site Agreenent F U

Product Line 031

DEC Opti on 9XXX 9XXX 9XXX



Type of Call M M M

Acti on Taken D D [
Fai | Area- Modul e- FCO- Comment s 9XXX- Q009 9XXX- 0009 9XXX- 0009
Mat eri al Used EQ 01635- 0* EQ 01635- 0* EQ 01635- 0*

(a) Warranty Optimum Warranty Standard and Warranty Basic (on-site)
Agreenments; * Note material (only) free of charge for all custoners.

(b) Applies to INNDEC Area Only

(c) RTD=Return to Digital or Of-site Agreenents; |If Field Engineer
On-site, use Activity Code "F".

FCO 9XXX- 0009

|
I T T I O |
|dliflglift]all] | PAGE 5 OF 5
U I o |
I
Figure 1
MR_X0414_90
Figure 2
MR_X0864_90. DOC
\'\ FCO_DCCS
\ A 9XXX
\'\ 9000- 2XX
\'\ 9000- 4XX
\\ 1992

\ A OXXX






